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I 22 mwn: dispute Yo “3/71»9R 1 about liability for nkon when the doubt is between 2 nxon »11n (™ liable; »: exempt)
a  Arguments: R" — either way, he is liable for nxon
i Retort (ywyp 77): v. 1 indicates that he must be aware of the specific violation
ii ~ &”% interprets na Ron VR as excluding poynn (see note below)
1 Question: what sort of poynn is exempt?
(a) Can’t be: mmMOR MYIRN or MMOR MR1 —in those cases, per YRV, poynn is liable as he got Nxin
(b) Can’t be: naw, as NN NIOR NIVWNN NIRYN (he is exempt in any case, without dispensation of poynn)
(c) Must be: a nawnn narYN, but with intent for 9mn (per dispute »axr/x817 in re intent to cut v19n and cut 721n)
(i) ~27% he intended to cut v19n and cut 721N
(if) 77an% he intended to lift up w19n and cut 12N
b Examples: 1 piece of meat, 25n or 1m; 1 woman, his n71 wife or his sister; 1 naxYn, naw or 3”7V (NaR>n was done v"’1)
»py? /7. dispute was not about mmwnNwN 1 NaRYN — we could argue that /2 was done on each day (1109)
d  Rather: dispute was if done during day — but doesn’t know which day or doesn’t know per which ax his act is categorized
i ap273 001 M noted that onon challenged him and hurt their own cause — they asked if he lifted during mwnwn pa
(no Myw-duration) how would he answer — and his response — %2 the nnaxn was 1 day, the other %5 - on the other day
1 Challenge: doesn’t 'ov 1 agree that X" finds for liability for nax%n 9m (putting last thread on a weave)
(a) Answer: »ov "1 has different version — must start with 3 threads or at least add 2 to weave to be 2»n (for »1R)
e amm T yvir 1 would exempt even from nYn nwy, per v. 2 — if he doesn’t know which sin it was, no n%9n Dwr
i w7 that's exactly the one who does bring n9n pwR; but if he isn’t sure if he ate 25n or not (no “either/or”) — unclear
1 Conclusion: R 1 — if he doesn’t know which his sin was or if he sinned — brings n”x
(a) Note: must be v, as he holds that if he didn’t know which sin it was — he brings; yet he also obligates in
case the penitent doesn’t know if he sinned
II  xmwn: ™ v v"™’s take on the dispute
a w7 w71 dispute was not about a case of two actions of the same nw (e.g. cutting this or that stalk of wheat)
i Rather: dispute was about unclarity which ow he violated (e.g. 7%p figs or 1312 grapes)
ii ~ /m “r even if he intended to cut 1 fruit and cut another (figs/grapes) or 1 kind of fig and cut another (black/white)
1 But: nmm 1 wondered whether ywin> 1 really would exempt in that case; what does na xon 9wR (v. 1) mean?
2 Answer: it excludes poynn (when involved with an entirely different action and he inadvertently does naxon)
(a) w3 poynn is liable in case of X”aXn or MR’a — as he had nR1n; exempt in case of Naw due to NAWNN NIRY”N
(b) Challenge (1715 837, who quoted 581pY): in the case of “mistaken babies”: and »" would be 1»nn
(i) If: he had 2 babies (e.g. twins) to circumcise, 1 naw3, 1 8 p1a and he did & oy on naw
1. Rulings: ™ — liable; ywin "1 — exempt (but only because he was engaged in a mxn)
2. Answer: this case is unique, as he is %p%pn (nMan) = 2»n MMan Hpvpa poynn
(c) Challenge (581pw5 711 37): "M 1 exempts figs/grapes — but not figs/figs (if same color) — though poynn
(i) Defense (581): case is where he forgot what he wanted to pick; intended grapes, forgot and went for
figs then inadvertently picked grapes

0

1. ¥77 liable, as his original plan (1n1113) was completed
2. yw1i77 “1. exempt, as his immediate intent (Ynawnn) was missed
(if) Challenge (xp2wix “7): N "1 must be disagreeing with "M v 2>ywin’ "1 doesn’t exempt poynn
1. Defensel: he agrees with poynn 110s; disagrees about forgetting (per above) in TR oW
a. w7 w1 only exempt if two different mnw (as per above); not TR Dw
b. /7miw /1 in all cases, they disagree
2. Defense2 (x37): they disagree about signficance of completing his intent — but out of sequence
a.  Per: n:x» naw ’naoin — if he had 2 candles and intended to light or put out 1 and did other 1102
b. And: if he intended to light one then extinguish other and did both in one breath — 27n
i.  Justification: R"10 since he didn’t accomplish the sequence he wanted - should be 1102
ii.  Therefore: since he didn’t violate sequence (earlier wasn’t later — just same time) - 27n
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III  Tangential discussion regarding intent (n:2 2w ®NaoIN): stoking coals on naw
a P’ liable (one nron — yan)
b ¥7an7 pwa ¥7awT liable for 2 — as he stokes the lower (buried) ones, he extinguishes the upper (exposed) ones

i Question: if he intends to both stoke and extinguish, why would p"n exempt from him one?
1 Or if: he intends only to extinguish — why would x"ax" find for two o>avn?

it Answerl (8221’11 877): he was intending to extinguish the upper ones in order to stoke the buried ones
1 jpm nyana SpYpn is exempt
2 ¥7axT myana phphnis liable

(a) Note: 31ny 1 agreed with this explanation

iii  Answer2 (2an 73 822217 1228 93 »28): he intended to do both n7yan and na»
1 j’m holds like »ov "1 that nIyan was singled out (x:n% mnw) to be a 1Y (only- no nrvn)
2 y7an7 holds like 1m "1 that nyan was singled out for mxon ;o n

iv Answer3 (837): they disagree about the significance of sequence — he intended to stoke, then extinguish
1 jp’m perhaps he extinguished first — cannot hold him to 2 liabilities
2 y7aNT sequence is of no matter

v Answer4 (»wx 77): he intended to extinguish and they were stoked as an inadvertent result
1 777 holds like v — (1) 1103 11901 1WRY 927 — (see 1Y R71’20 N"TOIN)
2 ¥7ax7 holds like nTn? "3 - 2N 1P1ONN 1WRY 727

vi  Support: conflicting min 1 in case he stokes coals to get warm and they enflame on their own — 108/27n
1 Resolution: mn»a are divided (along w™/nmn "1 lines) as to the liability for nan’ x"xw narYN
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